SRR GTREER EE

REEHREE

=X
=[]

E=t%

K#

EQ

ERL -




BEOLEDRE

[FC®HIZ

RRAEL, ST HEO RS ORERFNCIR Y EHT 5.

AR, DR - REASIR TRGHES RO0 TRATEICH S 2 )R ho % i)
GET, R LER) (CESESRMET .

S HES

AR R
B E & 26.075 m B S 12.54 m
HATZ 7 7O 4.9 kN
BESR XXMM #t: 3.77 m #5: 3.6 m
#HE—F  1EEI—

AREGIT B H

HEE R 16 m/s Mg X4y IV
VTP JE A S D A A e
2RARENETE

RGIAEHT 2 REIP (N) X, kAL LHEET 2,

qz : MBS EZ (m) BT HExEHHHA
P=qz XCXA C: [@&H DR It5REk
A [VEAERE (m?)

-1 ERFTREEEzNOEE
AREHHEE oz (V/nd) 1R LY BT 5,

Vo : [JEVERGE (m/s)

qz=5/8 X Vz? Ke @ |5 BURFEIHE R 2L
Vz=Vo X Ke XS XEg S: [ bEmE7 (m) 28T 2 Beii MU oA te
Bg @ [irHEm eI L A HIHLRE
RESAT . B BETR

Vo= 16 m/s
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b
A

A OGP L OP, 0 E
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R = 4.59 kN

R/F= 4.59 < 6.37 = OK
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BEQHRE
il 1 Kgf = 9.80665 N EAH 1 Kgf/m? 9.80665 N/m 2
1 N = 0.10197 kgf 1 N/m 2 0.10197 Kgf/m 2
ET—AVF 1 Kgf°m 9.80665 N=m 1 Kgf/cm 2 9.80665 N/cm 2
1 N'm = 0.10197 Kgf - m 1 N/cm? 0.10197 Kgf/cm 2
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— 5 1.65 1.50 1.35 1.19 1.07
— 10 1.65 1.50 1.35 1.19 1.07
10 — 15 1.74 1.62 1.47 1.25 1.07
15 — 20 1.74 1.62 1.47 1.25 1.07
20 — 25 1.84 1.74 1.59 1.36 1.13
25 — 30 1.84 1.74 1.59 1.36 1.13
30 — 35 1.84 1.74 1.59 1.36 1.13
35 — 40 1.84 1.74 1.68 1.46 1.22
40 — 45 1.92 1.85 1.68 1.46 1.22
45 — 50 1.92 1.85 1.68 1.46 1.22
50 — 55 1.92 1.85 1.68 1.55 1.31
55 — 60 1.92 1.85 1.77 1.55 1.31
60 — 65 1.92 1.85 1.77 1.55 1.31
65 — 70 1.92 1.85 1.77 1.55 1.31
70 — 100 1.99 1.94 1.84 1.64 1.41
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1. KRED®E
BREIEFTDBE
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a. MEQEE
1A) M2 AK4AE Y (ABIB)DIBI1SPRIBEEE NA (R LEZRKRQ)
Ti4m (1B#LE) |SAB-3800 14.3|Kg 05 |& — 7.2
iR SD-4018 13.8|Ke 1 |#% — 13.8
F SCB—18 4.2|Kg 2 |x — 8.4
BEA SCB—09 2.1|Kg 05 |& — 1.1
AEIM A mAH150 25|Ke/1.8m| 1 [#& — 2.50
N1A= 329 Kg
1A) NAZ RS Z DD E 7 (R LB R UHTER) NB = 3226 N
BEDGE SAB—1900 7.2|Keg/m 3| — 21.60
R LEFH18 SAB—1095 4.5(Kg/m 05| — 2.25
= EEFH09 SD-5018 15.2|Kg/m 1|A& — 15.20
xLEMIR SCB—18 4.2|Kg/m 5% — 2100
BEL—k SBHB—40 3.3|Ke/# 11 — 3.30
BALATH i AH150 2.5|Ke HES — 2.50
N2= 659 Kg
= 646 N
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3)EEWE = N1

1DDERMICRR2BELRDBZAEEET 5.

EXREISP 400 Kg 2 B
XHE1ARDY 400 Kg - 400  Kg
N1= 400 Kg
= 3923 N

b. RTEDNER HIE1ADIRE

FENDETE
N= <SUHKREH 13 BHORE
N= (NAxE# +NB+N1)
= ( 323 Nx 12 ¥ + 646 N
= 8440 N --- 844 kN

+

3923 N )

HME1RS-UDIERARE - 8440 N ( 860.7 kg )

FTHIKDYDEHFARE(0C) A HREE A=l
ERRFO-HDERMELL | IHRHORS(XHRPKEARDEMEHERIN TS
FERRERERAFE2415£31ELY HERABODESD>EHRAKDES (Bfiicm™4)
ViSANDBE i IHROR/NEZRER
o c={1-0.4((1/1)/ \N)"2}/v*F N BR#AE=/ (TT"2E/0.6F)
l/i>NDBE {BL. T=MHFE=xR
[0 c={0.29/((/i)/ )" 2}+F | E  YSEAHM DY HRE (BEIN/cm™2)
Oc FBEREINEDE(BFIN/cm™2)
I/i= 320 / 163 = 196.32 v  RBE2E=15+0570/i)/ N2
AN=4y( T"2E / 06 % 17775 ) F o YA OBRBIDEXILEISRYESDIED
= J( T"2 % 205%10°4 / 06 * 17775 ) mED=DNEDSE/NELME (BEHIN/cm”™2)
= 137.74 STK500: B|3§23.7%(3/4)= 17775
19632 > 137.74
oc=1{ 029/ (( ( 3200 / 163 ) / 137.74) "2) * 17775 = 2537.32 cm"2
Fc Oc * A(BTETE)

2537.32 * 348
8830 N ---  8.830 kN

HE1RE-YDESRE - 8830 kN (9004 kg )

8.440 kN < 8830 kN (HIEFA_MME) --0K

Ty DR
CryFBRYHLRSEHFBRE

200mmIUTF 213 kN (2172kg)
200mm#%#BZ250mmEATF | 203 kN (2070kg)
250mm#&EZ300mmLLF | 193 kN (1968kg)
300mm#%H#BZ350mmEA T | 18.6 kN (1897kg)
300mm%EH#EZ 350mmLL T

18.6 kN > 844 kN +-:OK
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